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 گزینه چهارم -101

{𝒂𝒏}: 𝟏, 𝟐, 𝟒, 𝟖, 𝟏𝟔                              𝟒, 𝟖, 𝟏𝟔, 𝟑𝟐, 𝟔𝟒 

          𝟏, 𝟑, 𝟗, 𝟐𝟕, 𝟖𝟏                            𝟓, 𝟏𝟎, 𝟐𝟎, 𝟒𝟎, 𝟖𝟎 

          𝟐, 𝟒, 𝟖, 𝟏𝟔, 𝟑𝟐                             𝟔, 𝟏𝟐, 𝟐𝟒, 𝟒𝟖, 𝟗𝟔 

          𝟑, 𝟔, 𝟏𝟐, 𝟐𝟒, 𝟒𝟖 

 : گزینه اول106

𝒙 = −𝟑 ± √𝟗 − 𝒂  

𝟑𝜶𝟐 + 𝟐𝜷𝟐 = 𝟑(−𝟑 − √𝟗 − 𝒂)
𝟐
+ 𝟐(−𝟑 − √𝟗 − 𝒂)

𝟐
= 𝟏𝟐√𝟐 + 𝟖𝟓 

𝟑(𝟗 + 𝟗 − 𝒂 + 𝟔√𝟗 − 𝒂) + 𝟐(𝟗 + 𝟗 − 𝒂 − 𝟔√𝟗 − 𝒂) =  𝟏𝟐√𝟐 + 𝟖𝟓 

𝟗𝟎 − 𝟓𝒂 + 𝟔√𝟗 − 𝒂 = 𝟏𝟐√𝟐 + 𝟖𝟓 ⟹    𝒂 = 𝟏 

 : گزینه سوم107

 𝟐𝒂𝟑 

 (𝒂𝟑 + 𝟏)(𝒂𝟑 − 𝟏)
= 𝟐 ⟹ 𝒂𝟔 − 𝟏 = 𝒂𝟑 ⟹   𝒂𝟔 = 𝒂𝟑 + 𝟏 

(
 𝟐(𝒂𝟑+𝟏) 

 (𝒂𝟑+𝟏)
𝟐
−𝒂𝟑 

)

𝟏𝟒𝟎𝟏

= (
 𝟐(𝒂𝟑+𝟏) 

 𝒂𝟔+𝟐𝒂𝟑+𝟏−𝒂𝟑 
)
𝟏𝟒𝟎𝟏

= (
 𝟐(𝒂𝟑+𝟏) 

 (𝒂𝟑+𝟏)(𝒂𝟑+𝟏) 
)
𝟏𝟒𝟎𝟏

= 𝟏  

 : گزینه چهارم108

𝒇(𝒙) = 𝒙𝟐|𝒙| = {𝒙
𝟑     ∶   𝒙 > 𝟎
−𝒙𝟑  ∶   𝒙 ≤ 𝟎

 

𝒚 = −𝒙𝟑 ⟹ 𝒙𝟑 = −𝒚 ⟹ 𝒙 = −√𝒚 
𝟑 ⟹ 𝒇−𝟏(𝒙) = −√𝒚 

𝟑     𝑫𝒇−𝟏 = [𝟎,+∞) 
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 اول گزینه: 109

{
(𝒙 + 𝟏)𝟐 + (𝒚 − 𝟒)𝟐 = 𝟐𝟓

(𝒙 + 𝟑)𝟐 + (𝒚 − 𝟐)𝟐 = 𝟐𝟗
  ⟹ {

𝒙𝟐 + 𝟐𝒙 + 𝟏 + 𝒚𝟐 − 𝟖𝒚 + 𝟏𝟔 = 𝟐𝟓

𝒙𝟐 + 𝟔𝒙 + 𝟗 + 𝒚𝟐 − 𝟒𝒚 + 𝟒 = 𝟐𝟗   
 

                                                              𝟒(𝒙 + 𝒚) = 𝟖 ⟹ 𝒙 + 𝒚 = 𝟐 

 اول : گزینه110

𝒇(√𝟐 ) =
 𝟐 

 𝟑√𝟐 −√𝟐  
=

 √𝟐  

𝟐
⟹ 𝒇(𝒇(√𝟐 )) = 𝒇 (

 √𝟐  

𝟐
) −

 𝟏 

 
 √𝟐  

𝟐
 
=

 𝟐 

√𝟐  
= √𝟐   

𝒇 (𝒇 (𝒇(√𝟐 ))) = 𝒇(√𝟐 ) =
 √𝟐  

𝟐
  

 : گزینه سوم111

𝟓𝒙 = 𝟏𝟎 ⟹ 𝒙 = 𝒍𝒐𝒈𝟓 𝟏𝟎     ,   𝒇(𝒙) = 𝒍𝒐𝒈𝟐 𝟐𝟎 

𝒇(𝒍𝒐𝒈𝟓 𝟏𝟎) = 𝒍𝒐𝒈𝟐 𝟐𝟎 = 𝟏 + 𝒍𝒐𝒈𝟐 𝟏𝟎 = 𝟏 +
 𝟏 

 𝒍𝒐𝒈𝟐 
= 𝟏 +

 𝟏 

 𝒍𝒐𝒈
 𝟏𝟎 

𝟓

=  

𝟏 +
 𝟏 

 𝟏− 𝒍𝒐𝒈𝟓 
⟹ 𝒇(𝒕) = 𝟏 +

 𝟏 

 𝟏−
 𝟏 

𝒕
 
=

 𝟐𝒕−𝟏 

 𝒕−𝟏
 

 : گزینه دوم112

𝑨 = 𝑩 + 𝟒𝟓        ,  𝑨 + 𝑩 + 𝑪 = 𝟏𝟖𝟎 

𝟐𝒔𝒊𝒏𝑩𝒄𝒐𝒔𝑨 − 𝒔𝒊𝒏𝑪 = 𝟐 ×
 𝟏 

𝟐
[𝒔𝒊𝒏(𝑩 + 𝑨) + 𝒔𝒊𝒏(𝑩 − 𝑨)] − 𝒔𝒊𝒏𝑪 =  

𝒔𝒊𝒏(𝝅 − 𝑪) + 𝒔𝒊𝒏(−𝟒𝟓) − 𝒔𝒊𝒏𝑪 = +𝒔𝒊𝒏𝑪 −
 √𝟐  

𝟐
− 𝒔𝒊𝒏𝑪 = −

 √𝟐  

𝟐
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 : گزینه اول113

{
−
 𝟏 

𝟒
=

 𝟏 

𝟒
𝒄𝒐𝒔 (

 𝟑 

𝟒
𝒃 + 𝒄)

 𝟏 

𝟒
𝒄𝒐𝒔 (

 𝟓 

𝟒
𝒃 + 𝒄) = 𝟎      

             {

 𝟑 

𝟒
𝒃 + 𝒄 = 𝝅   

 𝟓 

𝟒
𝒃 + 𝒄 =

 𝟑𝝅 

𝟐

 

𝒃 = 𝝅  ,  𝒄 =
 𝝅 

𝟒
  ,  𝒂 =

 𝟏 

𝟒
  ,  

 𝒂𝒄 

𝒃
=

 
 𝟏 

𝟒
 × 

 𝝅 

𝟒
 

𝝅
=

 𝟏 

𝟏𝟔
  

 گزینه سوم :114

𝒔𝒊𝒏𝒙 =
 𝒔𝒊𝒏𝟔𝟎 

 𝒄𝒐𝒔𝟔𝟎 
𝒄𝒐𝒔𝒙 = √𝟐 ⟹ 𝒔𝒊𝒏(𝒙 + 𝟔𝟎) = 𝒔𝒊𝒏

 𝝅 

 𝟒 
  

{
𝒙 = 𝟐𝒌𝝅 −

 𝝅 

 𝟏𝟐 

𝒙 = 𝟐𝒌𝝅 +
 𝟓𝝅 

 𝟏𝟐 

    ⟹ جمع ریشه ها = − 𝝅

 𝟏𝟐 
+
 𝟓𝝅 

𝟏𝟐
+ 𝟐𝝅 −

𝝅

 𝟏𝟐 
=

 𝟗𝝅 

 𝟒 
 

 گزینه چهارم  :115

𝒍𝒊𝒎
𝒙⟶−𝟏

 
 𝟐 

 𝟐√𝟐𝒙+𝟑  
−

 𝟑 

 𝟐√𝟑𝒙+𝟒  
  

 
 𝟏 

 𝟑 √𝒙𝟐 
𝟑

 

=
 𝟏− 

 𝟑 

𝟐
 

 𝟏 

𝟑

= −
 𝟑 

𝟐
  

 گزینه سوم  :116

𝒇(𝒙) =

{
 

 
|𝒙| + [−𝒙]  ∶   𝟎 < 𝒙 < یا 𝟏 − 𝟏 < 𝒙 < 𝟎

𝟏 + 𝒄𝒐𝒔𝝅𝒙 ∶   𝒙 = ±𝟏                                 

[𝒙𝟐] − [𝒙]  ∶   𝒙 < 𝒙  یا  𝟏− > 𝟏                 

پیوسته استنادر بی شمار نقطه  ⟹   

 

 

 

  

𝟏 −𝟏 

𝒚 = 𝒙𝟐 

𝒚 |= 𝒙𝟑| 
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 : گزینه چهارم117

𝒑(−𝟐) = 𝟎 ⟹ 𝟔𝟒 − 𝟑 × 𝟑𝟐 + 𝟏𝟔𝒂 = 𝟎 ⟹    𝒂 = 𝟐 

𝒏 = 𝟏 ⟹ 𝒑(𝒙) = 𝒙𝟔 + 𝟑𝒙𝟓 + 𝒙𝟒 + 𝟐𝒙𝟑 + 𝟑𝟐   ; (𝒙 − 𝟏)(𝒙 + 𝟑) 

{
𝒑(𝟏) = 𝟑𝟗   

𝒑(−𝟑) = 𝟓𝟗
 ⟹ 𝑹 = 𝒎𝒙 + 𝒏 ⟹ {

𝒎+ 𝒏 = 𝟑𝟗      
−𝟑𝒎 + 𝒏 = 𝟓𝟗

 

⟹𝒎 = −𝟓  ,  𝒏 = 𝟒𝟒 ⟹    𝑹 = −𝟓𝒙 + 𝟒𝟒 

 : گزینه سوم118

{𝟏} , {𝟐, 𝟑} , {𝟒, 𝟓, 𝟔} , {𝟕, 𝟖, …… , 𝟏𝟐} , {𝟏𝟑,…… , 𝟐𝟒} 

  𝟏   ,     𝟐      ,        𝟑          ,            𝟔                 ,          𝟏𝟐 

𝒂𝟏𝟏 = 𝒂𝟏𝒒
𝒏−𝟏 = 𝟑 × 𝟐𝟏𝟎 = 𝟑𝟎𝟕𝟐 

سیزدهمی آخرین عدد دسته  = 𝟑𝟎𝟕𝟐 × 𝟐 = 𝟔𝟏𝟒𝟒 

ی دوازدهمآخرین عدد دسته  = 𝟏𝟓𝟑𝟔 × 𝟐 = 𝟑𝟎𝟕𝟐 

ی سیزدهماولین عدد دسته  = 𝟑𝟎𝟕𝟑 

= میانگین
 𝟑𝟎𝟕𝟑+𝟔𝟏𝟒𝟒  

𝟐
= 𝟒𝟔𝟎𝟖/𝟓 

 : گزینه اول119

𝒙 ⟶ +∞ ∶  −𝒃 = 𝒂 + 𝟐 

𝒙 ⟶ −∞ ∶   𝒃 = 𝒂 − 𝟐 

𝒍𝒊𝒎
𝒙⟶𝟏+

 𝟐𝒙+𝟏 

 |𝒙|−𝟐 
= −𝟑  

 

⟹ 𝒂 = 𝟎  ,   𝒃 = −𝟐 
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 گزینه دوم :120

{
𝒚 = 𝒔𝒊𝒏𝒙 +

 𝟏 

𝟐
𝒄𝒐𝒔𝒙

𝒚 =
 𝟑 

𝟐
𝒔𝒊𝒏𝒙               

⟹ 𝒔𝒊𝒏𝒙 = 𝒄𝒐𝒔𝒙 ⟹ 𝒙 =
 𝝅 

𝟒
⟹ 𝒚 =

 𝟑√𝟐  

𝟒
  

𝒚´ = 𝒄𝒐𝒔𝒙 −
 𝟏 

𝟐
𝒔𝒊𝒏𝒙 ⟹ 𝒎 =

 √𝟐  

𝟒
⟹ 𝒚−

 𝟑√𝟐  

𝟒
=

√𝟐  

𝟒
(𝒙 −

 𝝅 

𝟒
)  

𝒚 = 𝟎 ⟹ −𝟑√𝟐 = √𝟐 (𝒙 −
 𝝅 

𝟒
) ⟹ 𝒙 =

 𝝅 

𝟒
− 𝟑  

 : گزینه سوم121

𝒈´(𝒙) = 𝒇´(𝒙 + 𝟏) + 𝟑𝒇´(𝟑𝒙 + 𝟏𝟎) 

𝒈´(−𝟐) =
 𝟑 

𝟐
+ 𝟑𝒇´(𝟒) =

 𝟑 

𝟐
+
 𝟗 

𝟐
= 𝟔   ;    𝒇´(−𝟏) = 𝒇´(𝟒)  

 : گزینه دوم 122

𝒍𝒊𝒎
𝒉⟶𝟎

 −𝟐𝒇´(𝟓−𝒉)𝒇(𝟓−𝒉)+𝟑𝒇´(𝟓−𝒉) 

−𝟐𝒉+𝟓
=

 −𝟐𝒇´(𝟓)𝒇(𝟓)+𝟑𝒇´(−𝟓) 

𝟓
= 
 −𝟐×

 𝟐𝟓 

𝟏𝟐
×𝟐 + 𝟑×

 𝟐𝟓 

𝟏𝟐
  

𝟓
=

 −𝟓 

𝟏𝟐
 

 : گزینه اول123

𝒚 = −𝒙𝟑 + 𝟑𝒂𝒙𝟐 + 𝒃 ⟹ 𝒚´ = −𝟑𝒙𝟐 + 𝟔𝒂𝒙 

{
𝒇´(−𝟏) = 𝟎 ⟹

𝒇(−𝟏) = 𝟏 ⟹ 
{
−𝟑 − 𝟔𝒂 = 𝟎     
𝟏 = 𝟏 + 𝟑𝒂 + 𝒃

⟹ {
𝒂 = −

 𝟏 

𝟐

𝒃 =
 𝟑 

𝟐
    
⟹

 𝒃 

𝒂
= −𝟑  
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 : گزینه چهارم124

−
 𝒃 

 𝟐𝒂 
= −

 𝟏 

𝟑
⟹ 𝒙𝑴𝒊𝒏 = −

 𝟏 

𝟑
  

 𝟏−𝒂 

 𝒂+𝟏 
= −

 𝟏 

𝟑
⟹ 𝒂 = 𝟐⟹ 𝒚 =

 𝟐𝒙+𝟑 

 𝟑𝒙+𝟏 
  

𝒚 = 𝟎 ⟹ 𝒙 = −
 𝟑 

𝟐
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